
Resolução Exercício 3



Questão 1



Questão 1 – resolução 1) e 2)

Estádio I Estádio II



Questão 1 – resolução 3) e 4)

Estádio III real Estádio III simplificado



Questão 2



Questão 2 - resolução

fcd = 21.430 kPa, fyd = 434.800 kPa, d = 0,74 m, bw = 0,25 m, Ast = 25 cm² 

Rst = 25 / 10.000 x 434.800 = 1.087 kN = Rcc

1.087 = 0,85 * 21.430 * 0,8 * xLN * 0,25

xLN = 0,298 m 

xLN, max = 0,45 * 0,74 = 0,333 m ok

z = d – 0,4 * xLN = 0,74 – 0,4 * 0,298 = 0,621 m

Md, max = Rst * z = 1.087 * 0,621 = 674,8 kNm

Mk, max = Md, max / 1,4 = 482 kNm


